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H (object height) = _____ cm

L (shadow length) = _____ cm

H
’ =

 1

L’ = L/H = _____

0.20.1 1.50.50

ArcTan (H/L) = tan   (H/L) = _____ o-1

Make sure your answer is in degrees, not radians!

Noon Sun Angle Worksheet

Date:
Time:

We acknowledge by our signatures that we collected the data at the date and time indicated on the worksheet. We also acknowledge that we have read and understood the instructions for data 
collection, including that falsifying data is academically dishonest and thus subject to the rules for academic dishonesty laid out in the  Student Handbook.

Noon Sun Angle Observation

Description of Object:

Name (Print): :etaD:erutangiS

Name (Print): :etaD:erutangiS

Name (Print): :etaD:erutangiS

Name (Print): :etaD:erutangiS


